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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHGC:b-0o’, 'FVIPH:r-o', 'PHl:g-o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

BYiE) | GEBRRTIC (RD) | EBE (BA/FK) | BREE (BF/R) | X8 ERE
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11:55 30 10.0 0.06 B5( FuHBe11:55 KEIEF (RAEREEE)
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23t+1300.0 (10%) 100. 0 3 FHKEC: 1278.0, PH: 6.9

unusual large postFgEt from yesterday (43), set to 30.0 ml.
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XX6

BTiE) | GEEBERTIC (F)) | S (EAH/EK) | BREE (B/R) | XK SRR

05:30 30 10.0 0.06 M|  {Ri%e05:30 KRHEIEF (KREEREE)
06:30 30 10.0 0.06 FH| {FRi%@06:30 KREFZF (KRAATREES)
07:30 30 10.0 0. 06 M| {Ri%e07:30 RHEF (KEAEZERE)
08:30 30 10.0 0.06 FH| 1B2i8@08:30 KRENF2F (FRE{ERER)
09:30 30 10.0 0. 06 FA| {FRi%@09:30 KREFZF (KRAATREES)
10:30 30 10.0 0.06 FH| {FRi%@10:30 KREIZF (RATREES)
11:30 30 10.0 0.06 FA| 1BRi&e11:30 RHEIEF (REEREE)
14:05 30 10.0 0. 06 FA| 1Ri%@14:05 KRHEF CRAEZR)
23t 240.0 (8%%) 80.0 3253KEC: 1278.0, PH: 6.9

unusual large postFgEt from yesterday (94),

RE R I B RECE B SR ok
[E];KEC 2960.0 K5, ZEiLFHAKECAE&htE R
HEEIHECE (1420.0 vs 2960.0) i35
REXREBLHHEREC/PHESR K, FIREZIIEREDRR

set to 30.0 ml.
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XX6_0, Day=218 (2025-06—01)

VI, VARV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

oo | 00 ool

optEC0=1200. 0, setECB=1278.0

optPH0=6. 0, setPHB=6.9
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AyiE) | EBIAT (FD) | ERE (BEH/H) | BEBREE (B/R) [XSR EFRE

05:20 30 10.0 0.06 FA| 1BRi8@05:20 KREIF2F (FREERER)
06:20 30 10.0 0.06 FH| {FRi%@06:20 KRENFZF (KRAATREES)
07:20 30 10.0 0.06 FA| 1B2i8@07:20 KRENFEF (FREERESE)
08:20 30 10.0 0.06 FH| 1BRi8@08:20 KRENF2F (FREEREER)
09:20 30 10.0 0. 06 FA| {FRi%@09:20 KREFZF (KRAATREES)
10:20 30 10.0 0.06 FH| {FRi%@10:20 KREIZF (RATREES)
11:20 30 10.0 0.06 FA| {Ri%e11:20 KREEF (RAERSE)
13:25 30 10.0 0. 06 M| {Rige13:25 kHIEF CGRAFEER)
23t 240.0 (8%%) 80.0 323E%KEC: 1278.0, PH: 6.9

unusual large postFgEt from yesterday (71),

RE R I B RECE B SR ok
[E];KEC 2960.0 K5, ZEiLFHAKECAE&htE R
HEEIHECE (1420.0 vs 2960.0) i35
REXREBLHHEREC/PHESR K, FIREZIIEREDRR

set to 30.0 ml.
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=1200. 0, setECB=1278.0

optPH0=6. 0, setPHB=6.9
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